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MCV4U Intersection of 2 Lines

What are the possibilities for the intersection of 2 lines in: /
2-space? 3-space?
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Example (2-space): Find the inter of thelines:2x —y+8=0 andbx +3y—13 =0
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Example (3-space): Find the intersection of the lines: 75 = (—1,1,0) + t(3,4,—2) and 75 = (—1,0,—7) +
s(2,3.1).

Solution

Start with the farametric equations:
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Example: Find the intersection of the lines: 7, = (2,1,0) + t(1,—1,1) and xz;a = % =z+1
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Start with the parametric equations: 0,2 ( 2‘ ?J { >
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Example: Find the y-intercept for the line 7, = (2,1, —1) + t(1,—1,1)

Solution:

Start with the parametric equations

by
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